
Accelerated Geometry
3.1-3.2 Test Review (Graphing Quadratics)

Graph f(x) : x2 - 4x +. 3 by making a table of values.
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Graph/(x)= -x2 - 2x-2 by making a table of values.

your aroph.

Using the graph of / (x) = i as a guide, describe the transformations:

Lobel the vertex ond oxis of symmetrv on2.

Use the description to write a quadratic function in vertex form:

6. f(x) = xz is vertically stretched by a factor of ?, reflected across the y-axir, ,nd lgiruunits' 
1tx) = r (-x)'+ B

7. f(x) = x2 is reflected across the x-axis, horizontally stretched bv a-factor of 2, and transtated 4

units to the left.*---
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Accelerated Geometry
3.7-3.2 Test Review (Graphing Quadratics)

For each function, (a) determine whether the graph opens up or down, (b) find the axis of symmetry, (c)

find the vertex, (d) find the y-intercept, (e) identify the domain and range, and (f) determine if the graph

has a maximum or minimum. Then graph the function. (Label vour oxis of svmmetrv ond vertex)

8. f(x) = -4x? -L?x-3
a. Upward or downward

b. Axis of symmetry
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9. f(x) = xz -4x+6
a. Upward or dowhward
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The highway mileage m in miles per gallon for a compact car is approximated by m(s) = -O.OZ5sz +2.45s -3Q ,

where s is the speed in miles per hour. What is the maximum mileage for the compact car to the nearest tenth of
a mile per gallon? What speed results in this ,it.red-TLs, ,"t)
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